Algebra 3/ Trigonometry Summer Packet Answers
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e 6
_1.. X=6 2. X:g
5. x=30 6. x=5
@ 9. x=3 10. x=-12
13. x=6 . 14 x=15
17. x=9 18. x=4
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x=24 8 x=8
X=i9“ 12. x=30
5 . X=
L x=2 16. x=3
L x=-2 20. x=1

Answers to Solving Inequalities with variable on both sides. |
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12) No solution. :
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Simplifying Radical Expressions

Simpiify.,

1) V1250
55n

3y /51267
1652

5) 216k*

6"\ 6

7) N80p’
413'\/5

9)  147m%n3
Tm - nN3mn

11) V75x%y
5x\/3_}'

13) ~ 16uty?

5 r—
4 - eV

2) 216v
66

4) /512m?
16m~2m

6) 1000
10‘»"\/;

8) \45p°
3p\/—5—

10) ~200m*n
10m> \/ﬁ

12) ~ 64m*n?

8m - nNmn

14y V28x%y?
2x - yNTxy



